



Sčítání a odčítání zlomků

Výsledný zlomek převed' ještě na základní tvar nebo na smíšené číslo.

$$\frac{11}{4} - \frac{23}{16} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{7}{4} - \frac{17}{12} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{4}{9} + \frac{2}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{11}{7} - \frac{3}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{6}{7} - \frac{2}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{17}{9} - \frac{2}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{3}{2} + \frac{15}{8} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{2}{5} + \frac{7}{20} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{7}{10} - \frac{1}{4} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{1}{5} + \frac{3}{7} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{3}{4} + \frac{1}{20} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{7}{12} - \frac{1}{4} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{3}{10} + \frac{1}{2} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{3}{2} + \frac{5}{4} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{11}{3} - \frac{7}{4} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{14}{5} - \frac{5}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{37}{24} - \frac{11}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$$

$$\frac{7}{8} - \frac{2}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{1}{6} + \frac{2}{5} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{3}{10} + \frac{2}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

